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gfe I B & 25% d¢ SIdl &, A URAR B 39! @9d & [Hd-T % HH B
gl fd g JHH Vg2

If rate of sugar increases by 25%, then family has to reduce its consumption by
what % to keep the expenditure same?

30%

25%

20%

15%
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gfc U 31d Dl U Yol H 20% Pl dlg 3R sqP! dISTs H 10% DI HHI B! Sl
g1 dl 39 &F%hd | Ufawd uRadd J1d diford |

If a side of a rectangle is increased by 20% and its breadth is decreased by
10%. Then find the percentage change in the area.

16%
10%
8%

12%
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ORT&T U1 B P [oTT BT Bl 35% i G Hdl ol dfc 98 105 3P UId Hdl o
31X 35 3Pl G B gl 9idl o | dI dg 3iferedd fhd i Ut & G dl UI?

Karan requires 35% to pass the exam. If he gets 105 marks and falls short by
35 marks. What was the maximum marks he could have got?

100

200

300

400
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If the numerator of a fraction is increased by 25% and denominator decreased
by 20%, the new value is 5/4. What is the original value?

3/5

4/5

718

3/7
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gic U 97 D YTl T 10% &I df 85 o dI, 39D &FAhd § i 1 Uid=Id I1d
IR

If the sides of a square is increased by 10%. Then, find the percentage of
iIncrease in its area.

20%

23%

21%

20.5%
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gfe &I BT 24% 3ITP 18% I 60 3ifIFH 5, dl T&T &

If 24% of a number exceeds its 18% by 60, then the number is:

100

500

1000

600
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1 litre of water is added to 5 litres of alcohol-water
solution containing 40% alcohol strength. The
strength of alcohol in the new solution will be

40% 3Tchiecd hi IMfo ol 5 el Achledd-9HT &
faerem ® 1 offex gt faern sar @1 99 faoaa o
3ehigd ki Ifad BIi—

2 1

(1) 30% (2) 33% (3) 335 % (4) 333 %
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A litre of pure alcohol is added to 6 litres of 30%
alcohol solution. The percentage of water in the so-
lution is

30% 3Tcehied Hidd oh 6 ©ileX H Teh il IG 3cohled

fietrn T oSl ° STl 1 gfava e—
(1) 50% (2) 65% (3) 60% (4) 40%
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How much pure alcohol has to be added to 400 ml of

a solution containing 15% of alcohol to change the
concentration of alcohol in the mixture to 32% 7

fedt 400 foef. faomm o, 599 15% stewieia ©, faa
IS STeehigicl THE STE, qifeh Wi fa9or § siewhigial ol
g5l 32% &1 S 2

(1) 60 ml/fHel. (2) 100 mI/faet.

(3) 128 ml/fHaet. (4) 68 ml/THel.




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

The ratio in which two sugar solutions of the con-

centrations 15% and 40% are to be mixed to get a
solution of concentration 30% is

15 Gfaera aem 40 9iaed 9sdl arel &1 =41 & Siel ol

forg e1urd | et e, arfer 30 Ifaerd |rsar arel =id
g @l ?

(1)2:3 2)3:2 3)8:9 (4 9:8
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In an examination 70% of the candidates passed
In English. 80% passed in Mathematics. 10% failed
in both the subjects. If 144 candidates passed in

both, the total number of candidates were :
fordt adtem ° 70% TRt STUST ° U9 gY, 80% Tford |
9 BT a1 10% <A faoi | et g | afs M fawai |
144 FARH 99 BU, T JA™ i ol G&AT ofi—

(1) 125 (2) 200 (3) 240 (4) 375
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A candidate who gest 20% marks in an examina-
tion, fails by 30 marks. But if he gets 32% marks,
he gets 42 marks more than the minimum pass
marks. Find the pass percentage of marks.

U qdenedt i feret whan § 20% 3 9w g SR 9% 30
3kl H &l Bl TN, Toh=q A o8 32% 3k U< skl I
3 AqH 3Tk H 42 3k 34k U BId| ITATOThI o
gfaeradr A

(1) 52% (2) 20% (3) 25%  (4) 12%




